AR AT32F407/437 fufi%; Ethernet PHY 324LH 4

FAQO0100
i DL ) R i

AT32F407/4371401 45 Ethernet PHY 42 i s 41

Questions: AT32F407/437 fn{i[%5 Ethernet PHY 2 4Lt 2

Answer:
AT32F407/437 f§i ] EMAC Itf, R4 75 K 75 245 Ethernet PHY #£{it 25MHz/50MHz IHf %4
® T4, Ethernet PHY $24fk 25MHz I &hi, A B A 7, R 59k 1 f1 2.
® Y45 Ethernet PHY 21t 50MHz &by, 1R 77k 3, @il E 45 Ethernet PHY # 50 Sk

1. BEF 25MHz fR1E N AT32F407 4 &It HEXT, CLKOUT(PA8)IHEE HEXT, CLKOUT %!
25MHz I} 54F 4 Ethernet PHY (IS ;

AT32F407/437
<
“ PHY
25MHz (3?)
—pl HEXT
CLKOQUT
A
25MHz

2. EF 25MHz iR HEAE N Ethernet PHY B4

m
AT32F407/437 § PHY
A
25MHz OSC
3. %% 50MHz &R HHAE N Ethernet PHY &
g
AT32F407/437 | % I* PHY
50MHz OSC]

2022.11.11 F1R KA 2.0.1




9[- AT32F407/437 f0f%; Ethernet PHY 3R 4R} 4

AL, MCU R
ERRS . AT32F407/437
FIhEE: EMAC

RIYIRE: L

2022.11.11 F 27, KA 2.0.1




AR[-R AT32F407/437 {4 Ethernet PHY 3&tHt 4

SCRSRR A P 52
H# W2 A5
2022.2.24 2.0.0 |‘BYIEA

&% Ethernet PHY N &4t 77 =,
437 Ethernet PHY [ 42 it

2022.11.11 201

2022.11.11 #3IW JiAs 2.0.1




:-='| ?r ? AT32F407/437 {25 Ethernet PHY R4LE} 4

ETZLRA - B

ST EAT FSTREASCIRMERS 777 AR 55 (KRN, R O RN AR 5 1 5 5 P A S AR 0 7 BRI 35 A G KT A 54T

T RIS A IR, ASTEA DAEATT7 2T RTR P BUHAT AT W78 BB R B4R AL BVF AT o W SRAST AT 733 S AR AT
BT BRSBTS A A =05 7 iRk 5% SRR R R TR, 8 e S DME T 7 2UAE A T
L5 = 7 7= i 8 35 B P A R P AR PR ORALE

WRARFERERE D I Ak rh A B, I, R 0 R 07 A P A s S AN AT T R BRI RAE, BB IR T4 &
EERFE S (RHARGE AR AT R AR DCAIE ARG B0, BURIRAEAT B A AR B R R P B BOR RALE

HERS 7 F AR B R TTH T R ORI fhe (A X VEA R ZORIOB AL, Blln: AfySCie. BaEA RSB 7 Mg 2 2
R ARG (B MR (O MRRHEMIRIEE: (D) (3%, H/sl (B) HAbrTReSBASHH . Jer LUr=4E MR . maERIe
B BRI TR R, RIS RO i e AR At T ST A, XURS: BV R DA b RO R B AH,  ERI R Ak ) R S 7 ik B2 o
R AT AL R .

ZERH BUHERE 777 0 SR T AR SCRS rh 4R A A 7 BRI BB R LB K S RIS BURERF ) 1506 A SO RS /07 U 95437 T HOAE AT ERAIE
KA I HARL LAEATIE 2 1 sl IOHERs I AT 53 4E

© 2022 HERF IR RE TR

2022.11.11 #H AW k2 2.0.1




